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XX 00000
XX ---00000000000000000 --
DO 1=1,N
CALL INDEX(I, IM,1P,N)
ACD=B(IM)+B(1)+B(IP)
END DO

SUBROUTINE INDEX(K, KM, KP, N)
common /parm/model
KM = K-1
KP = K+1
if(model.eq.1)then
if( K .eq. 1) KM=N
if( K .eq. N) KP=1
end if
return
end
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*poption parallel,tlocal(IM,IP)
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fal IP - TLOCALO O

DO 1=1,N
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*poption MP(P(0)) LANGLVL(save(ONO OO OODOOODOOOOODOOO
SUBROUTINE INDEX(K, KM, KP, OO OOOOOODOODOODOOO

common /parm/model

KM = K-1

KP = K+1

if(model.eq.1)then
if( K .eq. 1) KM=N
if( K .eq. N) KP=1

end if

return

end
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DO J=1,M1
DO 1=1,N
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END DO
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END DO
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XX ooooo
DO J=1,M
* Joooo
DO I=1,N
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END DO
END DO
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END DO
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END DO
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Real*8 A(IMX,JMX),B(IMX,INX)
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DO J=1,JMX-1
DO 1=2, IMX-1
A(1,3)=A(1-1,3)+B(1,J)
END DO
END DO
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DO 30 I=1,N
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DO 10 J=1,M
A(1,3)=B(1,J)+C(1,J)
10 continue
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DO 20 J=2,M-1
DI, D=E(I,D*F@, 1)
20 continue
30 continue
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DO 10 J=1,M
DO 30 I=1,N
A(1,3)=B(1,J3)+C(1,)
30 continue
10 continue
DO 300 I=1,N
DO 20 J=2,M-1
D@, D=EQ, D*F@, 1)
20 continue
300 continue

ge3l0bUdbb0ObOOobOO0ObOobDOoOobDoOoboon

ge2lboopbooobobodoobbooobbooobbuooobboonbobooo
goooooobobooobooobbooobbooobbooobbooLbbbooOon



0000000000000 0D00000000D000000000DOD00000000O0
000000000000 0D0DO0000O00O0D0000o00oO0DO0O0ooDOooooOond
0000000000000 0D00000000O0D0000o00oOO0DO000D 6.30000
O00D00D00ooooooooooon

0000 6.200000000000000000DOOOOODOOOOOOOODOOODO
0000000000000 05300000000000000000D00000O00O00O0
000000000 0OoOoOoOoOoOod *soption noloopinterchange 0O OOOOOOO
oo0ooooo

6.20 0000 bbooooboobooa

0000000000000 00ObO0DOOobO0oOoDbOoDOobDOoOOd =i1l00 =11 + 10
gooboooboboooobbooobooobboobobbooobbuooobboobLba
gobooobobooobbobooobobuooobbooobobooobboon

gobodoboooobooobbuooobbooobbooobbooobbooon
udodooooooooobooobooooobobobobbobobobbbbbobboobooonod
gogoobobobobobobbbbobbobooooooooobLbbbbooouoooouoooa
gobooobobooboboboooboba
Q) DbobooobobuoboooboboboboobobDoon

mgooboooobbooobobbooobobbooobboooobbboooono
oboobooooobo =101 =11+1000000000000DO0O0DO0OMOO
@ Uobobooobobuoooobobobobobobooobooo
@G Uoboobomwroooobobonboo
G obobooobooboobo
oo @oooboboboooboboobobooooboboboboobobDooboboo
gooood
tooogoooo
tooogoooo
bbb @oboobobooobobuoboooboobobooobobo
tooooooon
tobogobboooboboooboboooo
tobogobboooboboooboboooo
o0 @(Guiboobesb@bouobbibe.ebboonO
goooobobobbbbbioo0ddddoodoooooooooobbbbbooD
goobobooobboooobbooobooobbuooobooobbuooobbooboba
odddooooooooboooboooobobobobbobbobbbbbbobbooboonoog
ooboobooobobooobbooobooobbooobooobbooobooooo

630 0ddb0bUi0Ob0bbUoUOoUobUoUoUobbuooboboo
gobodoboodbbooobbooobbooobbooobbooobboooon



gboboooboboobobbooobbooobboobbooobboooDboOon

Real*8 A(M),B(M)

N=M/2
XX 00000
» A:0000000000000
» B:00000000000O00

** [pgbOooobobooobood

DO 1=1,M/2
A(D=A(I+N)+B(1+N)
B(D=A(1+N)-B(1+N)

END DO
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Real*8 A(M),B(M)
N=M/2
*voption indep(A,B)

= goobod
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DO 1=1,M/2
A(D=A(I+N)+B(1+N)
B(D=A(1+N)-B(1+N)

END DO
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DO 1=1,N
A(D=EXPB(1)+C(1))
D(1)=A(1)*D(1)

END DO
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DO i=1,N
ACI)=EXP(B(i)+C(i))
D(i)=A(i)*D(i)

END DO
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DO 1 = 1,N
Work(D)=B(DH)+C(HOODDOODDODOODOODOO
END DO
Call _hf _pvdexp(Work,A,N) oo0ooooooooooo
Do i = 1,N
D(1)=A(i)*D(i) o000
END DO
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Integer(kind=4),parameter :: N=100
Real*8 A(N),B(N),C(N)
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*soption nopredicate

DO 1 = 1,N
IF(A(i) > 0.d0) then
A() = B()*C(i) + D(D*E(i) + F(i)
Endif
END DO
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Integer(kind=4),parameter :: N=100
Real*8 A(N),B(N),C(\)

** |Fgooobooooo
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*soption predicate

DO i = 1,N
if(A(i) > 0.d0) then
A(i) = B(I)*C(i) + D(I)*E(i) + F(i)
Endif
END DO
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Integer(kind=4),parameter :: IMAX=100,JMAX=100

Real (kind=8),dimension(IMAX,JMAX) ::
A0,A1,A2,A3,A4,A5,A6,A7,A8,A9,
BO,B1,B2,B3,B4,B5,B6,B7,B8,B9,
co,c1,Cc2,C3,c4,C5,C6,C7,C8,C9,
po,b1,D2,D3,D4,D5,D6,D7,D8,D9

P B BH

= Qgoobod
** 1 @ TLOCALO O

DO J=1,JIMAX

X gdooooooogoobboobobobobobobbbobbbobboobo
goboooboooobooonboo
XX ODO000oboooboboooboboobobboooob AbooDbbo

DO 1=1, IMAX
AO(1,3)=BO(1,J)+CO(1,3)*DO(1,J)
AL(1,3)=B1(1,3)+C1(1,J)*D1(1,J)
A9(1,3)=BI(1,3)+C9(1,3)*DI(1,J)

END DO

END DO
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Integer(kind=4),parameter :: IMAX=100,JMAX=100

Real (kind=8) ,dimension(IMAX,JMAX) ::
AO,A1,A2,A3,A4,A5,A6,A7,A8,A9,
BO,B1,B2,B3,B4,B5,B6,B7,B8,B9,
co,c1,c2,C3,c4,C5,C6,C7,C8,C9,
po,b1,D2,D3,D4,D5,D6,D7,D8,D9

P B BH

= goobod
** 1 @ TLOCALO O

DO J=1,JIMAX

o ooooo0O00ooooon
DO 1=1, IMAX
AO(1,3)=BO(1,3)+CO(1,3)*DO(l,J)
A4(1,3)=B4(1,3)+CA(1,3)*D4(1,J)
END DO

= goooooo
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DO 1=1, IMAX
AS(1,3)=B5(1,3)+C5(1,J)*D5(1,J)
A9(1,3)=B9(1,3)+Ca(l,3)*D9(1,J)

END DO

END DO
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